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K4 [#e>r] LAP [Secl | Sec2| Secd | Secd | Sech | Sech [ Sec’ | Sec8| Total | Clean |
952 | Bz [y K& RAE] LAP [ Seci | Sec2| Sec3| Sec4 | Sec5 | Sec6 | Sec7 | Sec8| Total | Clean
Lapl 0 3 0 3 1 3 5 3 18 2
He kX Lap2 0 3 0 1 0 2 2 1 9 3
1 MONTESA 20 Lap3 0 3 5 1 0 1 0 1 11 3
FIFER 0 9 5 5 1 6 1 5
3 0 2 0 2 0 1 0
Lap1 1 1 1 3 0 0 5 0 11 3
#E #W=E Lap2 0 3 5 3 2 0 5 0 18 3
2 SHERCO02.9 17 Lap3 0 5 5 3 3 2 1 0 19 2
FIFE 1 9] 11 9 5 2 11 0
2 0 0 0 1 2 0 3
Lap1 5 5 3 3 0 5 5 1 21 1
WEEZ Lap2 0 3 0 3 0 5 3 1 15 3
3 HONDA RTL-F 15 Lap3 0 3 2 0 0 1 0 0) 6 5
RHE 5 11 5 6 0 11 8 2
2 0 1 1 3 0 1 1
Lapi 0 5 2 3 1 0 3 0 14 3
EEMEZ Lap2 0 5 5 2 2 0 5 2 21 2
4 HONDA RTL-F 13 Lap3 0 5 5 2 5 0 5 0 22 3
K8 0 15 12 1 8 0 13 2
3 0 0 0 0 3 0 2
Lapi 0 3 5 5 5 5 5 3 31 1
BH Kb Lap2 0 2 5 3 0 1 5 2 18 2
5 FUTURE TRIAL 11 Lap3 1 0 5 5 1 0 5 3 20 2
KHE 1 5 15 13 6 6 15 8
2 1 0 0 1 1 0 0
Lapi 0 3 5 3 1 5 5 3 25 1
BHF BHE Lap2 0 3 5 3 0 5 3 2 21 2
6 BETA250 10 Lap3 0 3 5 5 1 5 5 2 26 1
KHE 0 9 15 11 2 15 13 1
3 0 0 0 1 0 0 0
Lap1 0 3 5 5 5 5 5 5 33 1
hEF BE Lap2 0 5 5 3 0 5 3 5 26 2
7 HONDA RTL-F 9 Lap3 3 5 5 3 3 0 3 5 27 1
KO8 3 13 15 11 8 10 11 15
2 0 0 0 1 1 0 0
AV SR
ISR | B |[Evry K4 RAR| LAP | Secl| Sec2| Sec3 | Sec4 | Sec5 | Secb | Sec7 | Sec8| Total | Clean
| Lapl 0 3 0 2 5 5 1 1 17 2
# Bz Lap2 0 5 0 1 2 0 1 1 10 3
1 HONDA RTL-F 20 Lap3 0 0 0 0 3 0 0 1 4 6
KR 0 [ 0 310 5 2 3
3 1 3 1 0 2 1 0
Lap1 1 3 0 5 2 0 0 1 12 3
&L {E5—EB Lap2 0 3 0 1 3 3 0 1 11 3
2 MONTESA COTA315| 17 Lap3 2 3 0 1 5 1 1 3 16 1
KR 3 9 0 7110 4 1 5
1 0 3 0 0 1 7 0
| Lapi 1 3 0 3 3 5 0 16 2
"B & Lap2 0 2 0 3 0 2 2 10 3
3 HONDA RTL 15 Lap3 0 3 0 1 1 3 3 3 14 2
AR 1 8 0 7 410 5 5
NA 2 0 3 0 1 0 0 1
Lap1 2 3 0 5 1 3 3 1 18 1
H# &= Lap2 0 5 5 5 3 5 2 1 26 1
4 JOTAGAS JTG250 13 Lap3 0 3 2 3 1 5 0 2 16 2
KR 2] 11 71 13 5[ 13 5 4
2 0 1 0 0 0 1 0
0 3 5 3 3 1 5 5 25 1
FK BHE 0 2 0 5 5 5 1 5
5 MONTESA 4RT 11 5 5 0 2 3 0 1 1
KR 5 10 5/ 10| 11 6 71 11
2 0 2 0 0 1 0 0
5 5 5
| B
6 HONDA RTL-F 10
ADR




NBY SR

952 | Bz [y K& RAb| LAP | Secl [ Sec2| Sec3| Sec4 | Sec5 | Sec6 | Sec7 [ Sec8| Total | Clean

Lap1 0 1 0 5 1 0 0 3 10 4

KR BRE Lap2 0 2 0 0 0 0 0 1 3 6

1 HONDA RTL 20 Lap3 0 2 0 0 0 0 0 0 2 7
KR 0 5 0 5 1 0 0 4
3 0 3 2 2 3 3 1

Lap1 3 2 1 1 0 0 1 1 9 2

FiE B3z Lap2 0 5 0 3 1 0 0 0 9 5

2 HONDA RTL-F 17 Lap3 0 5 0 5 2 1 0 1 14 3
KR 3 12 1 9 3 1 1 2)
2 0 2 0 1 2 2 1

Lap1 1 2 0 3 2 2 0 3 13 2

Ik XA Lap2 0 3 2 3 2 0 0 0 10 4

3 GASGAS TXTPRO 15 Lap3 0 3 0 3 2 0 3 1 12 3
KR 1 8 2 9 6 2 3 4
2 0 2 0 0 2 2 1

Lap1 2 5 1 5 1 0 2 2 18 1

e #& Lap2 0 3 1 0 3 0 1 5 13 3

4 MONTESA COTA 13 Lap3 1 1 2 2 0 1 0 1 8 2
KR 3 9 4 7 4 1 3 8
1 0 0 1 1 2 1 0

Lap1 0 2 2 3 3 0 5 0 15 3

%k Hih Lap2 1 5 0 5 1 0 1 0 13 3

5 HONDA RTL 11 Lap3 1 5 1 3 1 0 3 5 19 1
KR 2 12 3 11 5 0 9 5
1 0 1 0 0 3 0 2

Lap1 5 3 1 3 0 3 0 2 17 2

T A Lap2 3 3 1 3 2 2 3 3 20 0

6 SHERC02. 5 10 Lap3 3 3 0 2 1 0 1 3 13 2
KR 11 9 2 8 3 5 4 8
NB 0 0 1 0 1 1 1 0

Lap1 1 3 3 5 3 2 5 1 23 0

WA HBE Lap2 3 3 1 2 1 0 5 1 16 1

7 HONDA RTL-F 9 Lap3 3 0 0 1 5 0 0 3 12 4
KR 7 6 4 8 9 2 10 5
0 1 1 0 0 2 1 0

Lap1 0 5 1 3 0 2 2 5 18 2

EE BX Lap2 1 3 1 5 2 5 3 3 23 0

8 HONDA RTL 8 Lap3 0 2 2 3 0 3 1 1 12 2
KR 1 10 4 11 2 10 6 9
2 0 0 0 2 0 0 0

Lap1 5 5 2 3 2 2 1 5 25 0

WA BEX Lap2 3 5 0 1 3 0 1 3 16 2

9 HONDA RTL 7 Lap3 2 5 0 2 0 1 0 3 13 3
KR 10 15 2 6 5 3 2 11
0 0 2 0 1 1 1 0

Lap1 5 5 5 2 3 3 5 5 33 0

Mg Lap2 0 3 0 3 0 2 3 3 14 3

10 HONDA RTL 6 Lap3 1 2 0 1 0 0 5 1 10 3
KR 6 10 5 6 3 5 13 9
1 0 2 0 2 1 0 0

Lap1 5 5 2 3 5 5 3 3 31 0

i - Lap2 5 3 5 3 0 3 0 1 20 2

11 HONDA RTLF 5 Lap3 5 3 1 0 5 1 1 0 16 2
150 11 8 6] 10 9 4 4
0 0 0 1 1 0 1 1

Lap1 3 5 1 3 2 5 5 5 29 0

AR K& Lap2 3 5 3 3 3 3 5 5 30 0

12 GASGAS TXT-PRO 4 Lap3 5 5 1 3 3 5 5 5 32 0
KR 11 15 5 9 8 13 15 15
0 0 0 0 0 0 0 0

DS5R | B | £y K4 K12 ] LAP | Secl | Sec2 | Sec3 | Sec4 | Sech | Sec6 | Sec7 | Sec8| Total | Clean

Lapi 1 3 3 3 0 0 1 0 11 3

SEKERLE | Lap2? 1 1 3 1 0 1 5 1 13 1

1 h A5 Ldst 20 Lap3 0 5 2 1 0 3 0 0 11 4
KHE 2 9 8 5 0 4 6 1
1 0 0 0 3 1 1 2

Lapi 5 3 2 3 0 3 0 1 17 2

WA HE | Lap2 0 1 1 3 5 B 5 3 23 1

2 GASGAS RANDONNE 17 Lap3 5 2 0 1 3 3 5 5 24 1
KHE 10 6 3 1 8 11 10 9
1 0 1 0 1 0 1 0

Lapi 2 5 5 5 0 0 5 5 27 2

w3 HEX | Lap2 5 3 3 5 5 3 5 1 30 0

3 BETA EV050 15 Lap3 5 5 3 1 2 3 5 5 29 0
KHE 12 13 11 11 1 6 15 11
0 0 0 0 1 1 0 0

Lap1 5 5 5 5 5 5 5 5 40 0

Wt B | Lap2 3 5 5 5 5 5 5 5 38 0

4 HONDA-RTL 13 Lap3 5 5 5 5 3 5 5 5 38 0
KB 13 15 15 15 13 15 15 15)
0 0 0 0 0 0 0 0




